‘ The Quadratic Formula

é\

REVISE THIS
IS Tt

1 Solve 3x2+6x+2=0 Q,:-l b - 6 C—-l

Give your answers correct to 2 decimal places.

r=-6%{6*—txaxd r=-6+02
6 6

x:=-6*{12 :—G_J‘i
G

x=-042 x:=—|58

(Total for Question 1 is 3 marks)

2 Solve 5x2+2x—-4=0 a_:S b:l C:‘.—L’-

Give your answers correct to 3 significant figures.

X = -2 +J22 -4 xSx 4
10 =2 Hty

2 = —li\‘@- IO
Te Lz -1— %%
1O

X=0-FH7F x=—|IL

(Total for Question 2 is 3 marks)
1
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3 Solve 2x2+2x—-6=0 _ ~
Give your answers correct to 2 decimal places. a = L b - Z C - - 6

= =-2*r] 2 -yx2x-¢C x:-l‘l’ﬁ
4 4

x=-2%{50
Tn

x=-2-[S1
l+

(Total for Question 3 is 3 marks)

4 Solve 6x2—-3x—-4=0 Gz 6 b - - 3 C;—q.

Give your answers correct to 3 significant figures.

X=_2 £/ C-4xb x-h ¥ = 3+Jﬁ
2

12

x= 2-{l0§
1z

X = .31'“0_5
3
= \IO x =~0-604%

(Total for Question 4 is 3 marks)

5 Solve 3x2—6x—1=0 a=3 b:-f) C=-|

Give your answers correct to 3 significant figures.

X = b tJC6r-4x23 x—\ 3 = 61—14-8
6

©
x= 6-[ag
6

x= 6 +{43
b

x=7-\S o = —0-155

(Total for Question 5 is 3 marks)

2
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6 Solve 2x+4-3x2=0 a=-—73 b =2 C«:L"'
Give your answers correct to 3 decimal places.

X = -2 22 -4x-3x4

x=-2+{52
-6

X = "08661 o \'SZS

(Total for Question 6 is 3 marks)

7 Solve 4x2+5x -2 = 6x a=4% b=-) C=-2
Give your answers correct to 3 decimal places.

Got-x-1=0
= | £JeP-—4xlx-2 x= | +gJ§

8
x= | £]33 x= | —{32
8

(Total for Question 7 is 4 marks)

=024y o =-0:591

8 Solve 5x2—5x +5=11-10x

Give your answers correct to 2 decimal places. @= S b=5 C,’-—G
SxX*+S5x-6=0
= -G +[S%4xc <G D(.=-S+J|L|—S
| O o)

x= -Gt IS x= -5-{lug
(0 0

X = 0’?0 x_:l}o

(Total for Question 8 is 4 marks)
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9 Solve X2+ 10x+15=0 aJ:\ b:_‘O C_—;‘S @

Give your answers in the form a ++/b where a and b are integers.

X =—10£J(0*-%x | xIS x=-(0t200

2_‘/ 2
x:—lD:‘:m x:_gth_é
Y

x= -S* o

(Total for Question 9 is 4 marks)

10 Solve X2+ 6x+1=0 o= | b:G c=\ @

Give your answers in the form a + bv2 where a and b are integers.

Xz -6+l ~4x1x] x=—b +4{1

2/ 2
x=-6+{31 x:-3+£22
2

(Total for Question 10 is 4 marks)

11 Solve x2—14x+4=0 o=\l bz--l4 c,:l\, @

Give your answers in the form a + bv/5 where a and b are integers.

X = 4+ [F-ex 1 <8 x= 4 +6{8

2/ 2
x= & =19 v: 1 +Us
2

x:= T+ 38

(Total for Question 11 is 4 marks)
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